MaTH 221

Quiz 9 |

Problem 1 [4pts] Suppose w; = (1,2,3,0) and wp = (0,-3,2,0) and w3 = (1,1,1,1). Find an

orthonormal basis for W = span{wi, w2, ws}. Find the projection of (a,b,¢,d) onto the subspace
W; that is, calculate Projy(a, b, ¢, d).
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Problem 2 [3pts] Find the least square fit line which best approximates the data set (1,2), (2,4), (3,7)
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Problem 4 [2pt] Let wy = Eq1,ws = Ei3 + Eg1, w3 = Eag + Eqy;. Use the gram-schmidt algorithm

to find an orthonormal basis for W = span{w;,ws, ws} given that we use the inner product
< A, B >= Trace(ABT).
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